HEN = | 6°G €L°2 g9 €Ll £12TH6 HIT | £19THZTHIT — €49 H6 HIT | LI
YTy M | 89 252 9L 9L 1 £40 HOTHZ | 9T HLI KT £42 HVI K2 91
LoTeTEE | 879 00 ¢ 6°L 98 1 £48 HGZHS8 | 19 HO9Z K8 £191 H2Z H8 g1
YA | L2 L8°2 9°6 L8°1 £UZTHGZH6 | H19T H L2 H6 £10T HVZ H6 VI
XY= | VoL L1°€ 1°L S6 1 £UOTHOZHT | HH9T HIZ KT £40 HST KT el
T pE = | L8 6L°2 9°8 66 "1 £122HZZ HST | £19 HEZHZT — £121 HIZ HII | 2l
HEFXE | L6 88 '€ €0 66 "1 £H9T H6Z H8 | £19T HOE K8 £171 H8Z H8 I
HEHH L L~k | 9L €5 ¢ 0°8 20°2 £40 HO9Z HOT | $422 H9Z HOT — £H0T HSZ HOT | OT
HEN = | 0L 0¥ ‘¢ VoL v0 2 LUPTH6T KT | £49 HOZHIT — £19 H6IHII | 6
HEN = | €L S0 ¥ S 112 LHZCHVE HTT | £HPTHGSZ HIT — £HSTHVPZHTIT | 8
LQICTWHE | L°8 0€ '€ 9°8 92 °2 £40 HOTH6 | HH9THZT H6 £10THS8 H6 L
HEY = | 8°6 60 ¥ 86 9¢ 'g £49 HLZHTT | #102HLZ HIT — £H0T HO9Z HTT | 9
TSN pE = | L L 9T ¥ LL 69 2 £49 HEZHT | £19 HSZTHIT £40 HET HT g
T pE = | T°8 8T ¥ LL 082 LEZTHTIEHT | 40 HS KT £49 HITE HT v
HENE = | L6 TV 'S 0°6 82 ¢ LHOTHSZ H9 | 42T H6Z H 9 £19 HLZH9 €
HEYAHE | V6 I1°g 26 96 '€ £10 HZTHZT | #ICTHETHZT — £UPIHTIIHET | @
HEMWE = | 16 €0 L 6°8 00 ¥ £17 H8 HOT | £122H6 HOT — £UgT HL HOT | 1
e (S) Ml | (W) B 70 | (S) MF[E | (W) &7 E =) T
7k et 3 Y [ FEEH FEB Y

EHEFE HE yee V%N

(LT~T) =435102




